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Q.1 Select the most appropriate option to fill in the blank.

My brother took us aride in the nature reserve.
Ans X 1.to

X 2.in
X 3.at
o 4. for

Question ID : 65497817221
Chosen Option : 4

_— @ _— =

Q.2 Identify the segment that contains a grammatical error. If there is no error, select ‘No
error'.

It is one of the best books whom | have ever read.
Ans X 1.ltis one of the
X 2.1 have ever read
o 3. best books whom

X 4. No error

Question ID : 65497817220
Chosen Option : 3

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

We had not explored even a tiny fraction of space even after years of space research.
Ans & 1uhave not

X 2. are not
#< 3. No substitution required
25 4. could not

Question ID : 65497815715
Chosen Option : 1

1728



Q.4 Select the most appropriate meaning of the given idiom.

At beck and call
Ans X 1. Try to convince others about something

#5 2. Signal someone to approach
25 3. Gain an advantage over someone

o 4. Ready to do everything for someone

Question ID : 65497817237
Chosen Option : 4

Q.5 Select the most appropriate word for the given group of words.
Make better

Ans ¢ 1. Improve

#5 2. Change

X 3. Delete

X 4. Increase

Question ID : 65497817238
Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blank.
| wonder if the postman _____ today.
Ans X 1.come
o 2. will come
X 3. was coming

X 4. will have come

Question ID : 65497817222
Chosen Option : 2

—_—
Q.7 Select the most appropriate synonym of the given word.

AMPLE
Ans ¢ 1. Sufficient
& 2. Narrow
X 3.Meager
5 4. Short

Question ID : 65497817234
Chosen Option : 1
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Q.8 Select the INCORRECTLY spelt word.
Ans X 1. Cubicle

X 2. Cube

o 3. Crystle
X 4. Crust

Question ID : 65497817240
Chosen Option : 1

Q.9 Select the most appropriate ANTONYM of the given word.

EXCITED
Ans X 1. Thrilled

X 2.Busy
X 3. Active
«” 4. Bored

Question ID : 65497817232
Chosen Option : 4

Q.10 Select the most appropriate meaning of the given idiom.

Bear fruit
Ans X 1.Be creative

#< 2. Putin hard work
X 3. Accept the truth

o 4. Produce positive results

Question ID : 65497817236
Chosen Option : 4

Q.11 Select the most appropriate option to fill in the blank.

The weather report
Ans X 1.requested

o 2. advised
X< 3. insisted
#5 4.announced

the fishermen not to go fishing the next day.

Question ID : 65497817242
Chosen Option : 2
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Q.12 Select the most appropriate synonym of the given word.
CONCISE

Ans X 1. Edited

X 2. Lengthy

X 3. Modified

o 4. Brief

Question ID : 65497817235
Chosen Option : 4

Q.13 Identify the segment that contains a grammatical error. If there is no error, select ‘No
error'.

Each team were wearing a different coloured dress.
Ans X 1.No error

& 2. wearing a
#5 3. different coloured dress

«” 4. Each team were

Question ID : 65497817219
Chosen Option : 4

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

The tournament have been cancel.
Ans  « 1. has been cancelled

#5 2. have been cancelled
5 3. No substitution required

X 4. has been cancel

Question ID : 65497817229
Chosen Option : 1

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Her later short stories are vastly superior than her earlier ones.
Ans o 1. superiorto
Z< 2. superior against
< 3. superior over

25 4. superior from

Question ID : 65497817837
Chosen Option : 1
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Q.16 Select the most appropriate word for the given group of words.
The cry of an owl

Ans 1. Hoot

X 2.Coo

X 3. Squawk

& 4. Moo

Question ID : 65497817239
Chosen Option : 1

Q.17 Select the most appropriate option to fill in the blank.
Twenty people were buried alive when the building __
Ans ¢ 1. collapsed

X 2.damaged

X 3. subsided

< 4. shook

Question ID : 65497817243
Chosen Option : 3

Q.18 Select the INCORRECTLY spelt word.
Ans X 1.Possess

X 2. Persuade

o 3. Persuit

X 4. Precede

Question ID : 65497817241
Chosen Option : 1

error'.
Every morning a shrill noise wake me up.
Ans o 1. wake‘me up
5 2. Every morning
< 3. a shrill noise
7< 4. No error

Q.19 Identify the segment that contains a grammatical error. If there is no error, select ‘No

Question ID : 65497817218
Chosen Option : 1
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Q.20

Ans

Select the most appropriate ANTONYM of the given word.

ACQUIRE
& 1. Gain

«” 2. Disperse
X 3. Collect
X 4.Eam

Question ID : 65497817233
Chosen Option : 2

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.

The train came out of the jungle and passed fields of sugarcane and villages of mud huts.

Children (1), and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.
< 1. shouts

X 2. shout
«” 3. shouted
X 4. shouting

Question ID : 65497817224
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.

The train came out of the jungle and passed fields of sugarcane and villages of mud huts.

Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans

«” 1. there
25 2. here
< 3.this
X 4. that

Question ID : 65497817225
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.

The train came out of the jungle and passed fields of sugarcane and villages of mud huts.

Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.

Ans X 1.pump
X 2.car
«” 3. engine
X 4. motor

Question ID : 65497817226
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.

The train came out of the jungle and passed fields of sugarcane and villages of mud huts.

Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans ¢ 1.was

X 2. are
X 3. were

X 4.is

Question ID : 65497817227
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
options given. Select the most appropriate option for each blank.

The train came out of the jungle and passed fields of sugarcane and villages of mud huts.

Children (1) and waved to the train, though (2) was no one in it except Suraj,
the guard and the (3) driver. Suraj waved back. Usually he (4) in a field,
waving; today, he was (5) on a train.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1.frequently

X 2. absolutely
2X 3. definitely

o 4. actually

Question ID : 65497817228
Chosen Option : 1

Section : General Intelligence and Reasoning
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Y e wely F gdur & fffi 9fafe @ ama w1
Q

AN KK

Ans

Question ID : 65497816458
Chosen Option : 3
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Q2 IH HER-TYE T 99 B, St &t T8 Joft & weyaras g (?) F R W w2
bisq, dguo, ?, hcyk

Ans o 1. fewm

&K 2. ffwn

X 3.eevm

X 4.efvn

Question ID : 65497816449
Chosen Option : 1

Q.3 37 fwey o7 997 ¢, Owd a7 o T ¥ B S Re ov st # aref o & fder T w

Arer Srar ¥ A 3g S e
/\
,'/" \
Ans
7€ 1.
oVo
olo

Question ID : 65497816459
Chosen Option : 4

Q.4 3 faeed &1 99 Y, &l W 18 A S S TR Faiftra § e UoR g1 e ugd v
| defa 21

Kabaddi : 7 : : Football : ?
Ans X 1.6
2.8
< 3.10
X 4.1

Question ID : 65497816444
Chosen Option : 2
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Q.5

Ans

it fAf3a eyt &, af 4 3R 6 T TH-gaR | wfawutfia fSar irar 8 a9 5 3k 9 &Y
TH-gaY A wfaenfia far orar 8, @ Fa 3 @ B @ Ton a9 7 gnie

& 1.7458
X 2.4555
X 3.9383
X 4.7486

Question ID : 65497816437
Chosen Option : 1

Q.6

Ans

B 3% T, 3rgal, urdf, fBwur, SR iR favTel Frveyw & A IS & iR 3
YeYs ¥ g B 3R i

1. 3qat i@ PR R rd F fFa A It 21

2. 3fHY®, PR & TSI A 5T 81

3. fa=r, ergat & e wrA Adt 81

RN & Sie aEA HI9 9aT 82

W ER: U]
X 2. faxuor
X 3.3t
X 4. fw

Question ID : 65497816452
Chosen Option : 1

Q.7

Ans

e i ifid®, 3rgaf, urd, v, SifeR iR favTe waveys & i wad € 3k 3
YU & g B 3T AfgE B

1. 3qal i 3R R urd & ftw F 33 B

2. 3ifi®, R & S § a7 1

3. fop=r, 3rgat & e WA AE 81

ST vy #, afe faRre 3R ST, o= RITH Tw-gok & 95 ad &, al fomur & svra &
P 9T gRI?

X 1. orgaf
o 2. MHR
X 3. formr
X 4. SfftNe

Question ID : 65497816453
Chosen Option : 2
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Q8 faFedt & ¥ 3% gl & 977 F, OF & 78 3R F Now w & R F ¥ @ @ o

Ans

o 1.

T

Question ID : 65497816456
Chosen Option : 1

Q9 Ry T FYHI & MR R FE & A 14 A1 Frewd fFAreren o1 Fwar 22
s e
Ans g 1. TS S, THcadRs |
X 2. 3 dueTy, PR B |
X 3. %1% ot IiredwR, duer TEl 1
X4, TR WiTeR, TR T

Question ID : 65497816450
Chosen Option : 1
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Q.10 I ey &1 999 HY, ol O T A S I yaR dafta § fory vor gad @en
Ugel HEn & Hala g1

31:8::92: 7
Ans X 1.721

& 2.77

X 3.49

X 4.61

Question ID : 65497816438
Chosen Option : 2

M 57 fameT & T K, S & T 3y SO F I T W 30T

LT
“|1]

Ans

Question ID : 65497816455
Chosen Option : 3

Q.12 ﬁnﬁﬁfémgeumﬁ,uﬁwmenf'm, 'x* BT 3 g, + &1 3 wig 3R — BT
3 Ui 8, A A SST® BT A JTd BY | (BODMAS HT IUTNT HY)

24+6-2+4x%x2
Ans X 1.13

X 2.12
& 3.25
X 4.10

Question ID : 65497816436
Chosen Option : 3
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Q.13 3 fadeq 1 79 Y, St TR e A So I woR Feildia & R THR goR1 U uga ug
J Hefta 21

ﬂﬁﬁrﬁq:a@ﬁa&ruﬁﬁm:wﬁ:ﬁa:?
Ans 1 @ e
X 2. YAy U
X 3. 3o e
X 4. SN Safer

Question ID : 65497816447
Chosen Option : 1

Q.14 I G@13M BT 799 B9, 1 &1 75 " Avit # uyare fEl (7) F wiE w et
23, 25, 29, 35, 47, 50, 2, ?
Ans X 1.54,68
X 2.62,70
X 3.56,70
o 4.75,50

Question ID : 65497816441
Chosen Option : ==

_— @ _— =

Q.15 I fawey &1 997 &%, Sl T 18 A St St yopR Teifi @ o UeR gk U Ugd ug
A et 21

AR : IIRES : - BiPUIT : 2
Ans g 1 T0ql
X 2. DiH0
X 3. FAcd

X 4. 7GRy

Question ID : 65497816448
Chosen Option : 3

Q16 foer sty 3, Pog ‘Teale Re¥alr = reRe e 3, g @Al Reidar = BreRe e
3 3 w RTi¥ar @ e e §1 Rt R, s S gea A dod

RN
=Y

Ans & 13
X219
X3 26
4 9

Question ID : 65497816460
Chosen Option : 2
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IEIT-A® &1 98T FY|
Ans X 1.38,924,33

X 2.23,426,67
25 3.55,5425, 96
o 4.43,126, 32

Q.17 IR wE-Ae Ry 7Y §, fd & A feefl yor wur § ok e 3riTd 81 99 SRt

Question ID : 65497816439
Chosen Option : ==

Q.18 IF TET FT T4 F¥, 5 < 7T T Avft & wyaras g (7) F R~ W i
2,5,13,29, 2

Ans o 1.47

X 2.41

X 3.39

X 4.43

Question ID : 65497816440
Chosen Option : ==

Q.19 3T T Fy= & SMmuR W A & A B 1 e freren o wewar 82

YT 1 : 3N, ATHTA & a1 2
FYT 2 : 4FT, A A dH T R
FYF 3 : UleT, 4T A SIS 1

Ans X 1. 3T, Teltel | oa 31
X 2. 9gT, 3T A BIA B
X 3. BT T BleT gl
o 4. Ui, A B R

Question ID : 65497816451
Chosen Option : 4

Q.20 I &R FT TG B9, &l 31 T3 3ieR Aoft & wyars [ (7) F RIF W |
E,G,LV,?
Ans X 1.G
& 2. M
X 3.8
X 4.P

Question ID : 65497816443
Chosen Option : 2
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Q.21 f&# fAfya e urar , af} 375 1 42, 3R 784 P 14’ oy wrrn @, A S g W

Ans

¥ 319 465 &) fHa bR fer@it?

& 1.21
X 2.34
X 3.12
X 4.43

Question ID : 65497816445
Chosen Option : 3

Q.22 gfg wWt TR quinTar & geT 3T g, oY S AT 3R 158 T U T2

Ans

X 1.R
X2T
X 3.Q
& 4.5

Question ID : 65497816442
Chosen Option : 4

Q.23 Select the figure from the options which is embedded in the given question figure.

Ans

_\\‘*

Question ID : 65497816457
Chosen Option : 2
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Q.24 I &R TS FT TG4 B, o &Y 15 Joit & g == § wiie w0 3 v w goft
& g g

B_DC__ ADD_BA
Ans X 1.ABCB

« 2. ACBC
X 3.DACB
X 4.DABC

Question ID : 65497816446
Chosen Option : 2

Q.25 gig fAerst @, b, ‘', ‘d’ 3R ‘e’ fFeft A9 F IR Fo T T
1. 'b* efRra® T €, Qe Wae ) ST 81
2.'d' ¢’ ¥ AP T 91, AfPT T b A FAIA TANW |
3.'a' 4 37 T 941G, &) 'c’' A HH &l
4.'¢' 7 'd' ¥ 29 ¥ 3 I91¢I
5. ' 'b' ¥ 21 T HH TAT 2
‘e’ Y T fhaq T ST 82
Ans X 1.58

X 2.134
X 3.62
o 4.70

Question ID : 65497816454
Chosen Option : 4

Section : Numerical Aptitude

Q1 #a smmit & stwa 30 &1 e TE, Rl wEw & T § AR g v, dwd s A R
ggell HEAT AT FL

Ans X 1. 30
X2 25
X3 28
v 4 20

Question ID : 65497815658
Chosen Option : 4

Q2 2wt & 3 18 18 ¥ A e wEw F 25 F 3R AN &, A 3o 44 0 29 @ S g
gt et & #@ e Ae

Ans x4, 70
X2 85
v 75
X< 4 80

Question ID : 65497815664
Chosen Option : 3
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Q.3 24 spheres of the same size are made by melting a solid cylinder, whose diameter is 28 cm and height is 7 cm. The
surface area of each sphere is:

(Take = %)

Ans &1 154 cm?
X2 144 cm?
X 3156 cm?
X4 164 cm?

Question ID : 65497815671
Chosen Option : 1

Q4 frdr Gimer T FE F AR AR aET smw FAe 18 om 3R 22 om §) O o3 THT
&% (cam® #) A H

Ans X 1. 414w
X2 404n
X3 424n
4444

Question ID : 65497814966
Chosen Option : 1

Q5 waFE smhHwmIFTPa R Amdimsmti R 2mhHra=d
T 8. @ A g # A wEw & a7 sem

Ane X112 fame
X210 A=e
X3 14 Bee
74 8 fBse
Question ID : 65497815655
Chosen Option : 4

Q6 ABRCEFIF A FAr s Rm s RN R R i s fi MW I avsa =3 €
3T 37 F14 & T 29,800 Bear & A A F g7 TR AT

Ans 1. 34,600
v 2 74,800
X 3. 35,800
X 424,200

Question ID : 65497815653
Chosen Option : 2
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Question ID : 65497817088
Chosen Option : 3

Q.8 315,400 & TR 2 w4 &, T 9% I AT 12% WYROT =TT & W YR & el &1 A I
AT IO FF S 24,914 §1 9% HR 12% A I W 3uR & ¢ 7 F IS 7 FY

Ans X148 3 7
v25:6
X3 4:5
X45:7

Question ID : 65497815667
Chosen Option : 2

G e —

Q9 frdlr Fl &, 75% »fFF o § AR AW agRT §1 84% TUT AAF 3R 28% I AFF FURr
&1 o swurd sfd f FEr 180 §, A Fl # s & g T TH F

Ans 1. 600
x 2. 800
X 3. 650
x4 700
Question ID : 65497815660
Chosen Option : 1

Q.10 51 km #r g 77 F3 FAG, Bl fEE A oW B vw ger 40 TR 9o F A, 3EE @I AT #
TEEh v gh & Z o EH 9w A F
Ans X 1.8 km/h
X 2.7 km/h
%310 km/h
¥4 9 km/h

Question ID : 65497815656
Chosen Option : 4
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Q.1

e o I e W a¥ & 2hw el v aEwr RfYew @ W T T s @ i #1 oE
e F AT FE AT A RE 7T 9207 F 31 &

ofy 9 & 9 W T H T 7 T 242 73 N, A Tea 3R FH | v 7Y TH H 08 FH
Tfer 1T F

A
" X1.21.35 WIS
v2 3147 &3
X3 3247 FUS
X4 3145 Qs
Question ID : 65497815675
Chosen Option : 2
-_—ar s
Q12 A B3R Caami#2:3:4 F e # &3 W gw & oo & 591 g7 v W0 81 P A W
Fad ST 3IRIFT IS F 3:8:7 F IS F a@en N FhALE?
() AT B HF20 & 3R CH¥BH 20 F TUHART FF1
(i) AT BHF20 FF 3R CFBF 10 7 WS F)
(i) A ¥ B & 40 & 3R C ¥ B # 20 & WHARG |
(iv) A® B & 30 & 3t C ¥ B & 30 &3 ®UEERT #3H|
Ans x 1. (")
x 2. (i)
X 3. (iv)
v 4 (i)

Question ID : 65497815665
Chosen Option : 4
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Q.13 Ry o = B Ry a¥ ¥ S e 3 cawr R @t B e s @ o 1 o
qME F FTAF FL AR A B 710 w07 F 3w7 &

Ans

ofy @&t W TS F 7 FF AR 3.6 F3 N, @ @h, B 3k AT W S H ¢ v of

AT

X 1. 365 omg
#2360 oIm@
#3356 oM@
4 262 o

Question ID : 65497815677
Chosen Option : 4

Q14 2y Fwarst @ deree 50 § 3R SAE oG 525 ¥ A wwAHt F A, (LCM) T H

Ans

X1 85
X2 115
¢ 3.105
X4.125

Question ID : 65497815672
Chosen Option : 3

Q15 zrer & mow & A THFRE AR R G gO, 112,800 H TR K7, 12% TF H T ¥ v T

Ans

T THYTE WS AT B

x 121,500
X2 31455
« 331,545
x4 71,540

Question ID : 65497815666
Chosen Option : 3
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Q.16 33 3w & sfwaw 7a8 719 FT, TR 13 cm x 8 cm x 3 cm Mt TF HTAER TFE F TN
ST wFT B

Ans X1 loﬁ‘cm
X2 1242 em
3 1142 cm
X4 1143 em

Question ID : 65497815669
Chosen Option : 3

7 gfx 4A=5B=8C & a A:B:C Fa I
Ans X112 : 8 :7

K2q2 = P

v3i10:8:5

X490 8§57

Question ID : 65497815663
Chosen Option : 3

Q.18 If the difference of the mode and median of a data is 38, then the differencé of the median and mean is:
Ans X124

X218

3 19

X 4. 22

Question ID : 65497815668
Chosen Option : 3

Q.19 30 wz= #7 swa 517, 20 TR F FEF IR F 5 kg U &1 IR 30 FIF F FF #1050 kg
¥, & 20 Wt & g WX S w0

Ans x 1. 400 kg
«2 600 kg
x 3. 650 kg
x4 550 kg

Question ID : 65497815657
Chosen Option : 2
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Q.20 frzr I ¥ = R R o€ F Shw O 2o aamr Rftew @@t | v av amw @ oEr # 9
TqE FT WTTS F{ A AT B 710 997 F7 357 &

e I # Yot W T F 7 FF AW 224 F3 A, A oF Wy AW R TFeET W TH F aE
T, T T MeF HR Feard W T H 7 7 F e sww w7 2

ATS X1 12%
X2 15%
X 3. 89%
v+ 10%

Question ID : 65497815676
Chosen Option : 4

Q21 ey e #r wag, Sters i Fur$ F e 28 cm ¥ AR TE F W TOF AHE 588 0m §,
ar sHe et 7 =X

Ans X 1.12 em
X216 cm
314 cm
X415 cm

Question ID : 65497815670
Chosen Option : 3

— == =

Q22 311960 # 52 Way T A & AR 41.40 §A T F T ¥ I 7 § T wRAV 7T F
Ans X 1. 40%

v 2. 50%

X 3. 45%

X 4. 6(}%

Question ID : 65497815661
Chosen Option : 2
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Q.23 fodlr avg 1 3T 7w 25,800 ¥ IR 20% e & F @, W F 25% o wroF @ B, A ITG F
FT 7T AT H

Ans ¥ 133,720
x2.33,625
333,712
x 433,724

Question ID : 65497815659
Chosen Option : 3

Q24 A B 3R C el 78 71 FRw: 16, 24 3R 32 RF & [ woa §1 ¥ vF WY F ¥ F@ §,
MIC AR o IRAFTT Wi I RA s oz e &) Fam Rm &
FE 9 gem?

Avs X1 45 Ry
X214 fem
X3 9 fe=
ve12 fF

Question ID : 65497815654
Chosen Option : 4

Q25 s =B FTVEHRITFF 720 F o, sy adaw gk ad g f s ==
F TV ¥ 12:% F T R AT E, A g TV ¥ F d9a W g§ @ 7w

Ans 1. 85%
X2 8%
3. 10%
X 4. 9%

Question ID : 65497815662
Chosen Option : 3

Section . General Awareness

Q1 fufafed # ¥ o9 | gearR giar & v e 991 IgRTR 32
Ans X 1. 3cdilce HEENR

2. 8 memrR
X 3. 3w HERTR
X 4. URId HERITR

Question ID : 65497818323
Chosen Option : 1
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Q.2 frufafEa & & $19 91 te afed ugrd § ot tref &) IRa-TeS R veH a1 32
Ans ;(1,313311;

o 2. A

X 3. 7agH

X 4. FR@EA

Question ID : 65497818321
Chosen Option : 2

Q.3 fufaf@a & & $19 1 god 1y Iare § i gar 82
Ans o 1. 3ifcH aegafl Bt faet

X 2. 3ge-aael fby TT A 3R Jarg
X 3. IUGRT 6T T WA B fosht
X 4. 3RO YITdH

Question ID : 65497818314
Chosen Option : 1

Q.4 W IATE T & AT JaT a9 dB-1d1 & A B 3= & aie™ & g 57 2020 #
fay @re PR fFaa ofiar?

Ans X 1.3, YR
X 2. T HOIE
X 3. T MUaHH

4.3 A

Question ID : 65497818310
Chosen Option : ==

Q.5 Ugdr G SIGRIE B UT?

Ans X 1. m
o 2.9 R
X 3. SEIR
X 4. IR H
Question ID : 65497818327
Chosen Option : 2
—_ — —

Q.6 Ethanoic acid is also known as glacial acetic acid as it:
Ans X 1. crystallizes easily

o 2)freezes in cold climate
< 3.is volatile during winter

2< 4.is aliquid during winter

Question ID : 65497818322
Chosen Option : 1
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Q7 WRA & IR AeH O ave @ fw frgh & e 82

Ans

X 1. Frcll gt
2.9 gt
X 3. dieft gt
X 4.3 et

Question ID : 65497818325
Chosen Option : 2

Q.8 frafafed & ¥ o It T At arxfar o wursi J &t 32

Ans > 1. LN
X 2. WRaregH
« 3.8
p R
Question ID : 65497818305
Chosen Option : --
T S ——

Q.9 wfed ¥ W@ & fre FPrafafEa § @ «n Ayl 78 22

Ans

X 1. IS qEEar
X 2. gHe™

X 3. QPGB
o 4. SdH® uRkagH

Question ID : 65497818320
Chosen Option : -=

Q.10 Aqe ¥ mafora gou e Tyt & 2020 &7 S fea=

Ans

X 1. 3Joa W

o 2. 9 Sl
X 3. St fagm
X 4. Aferad

s 3o+ fEare feaa shar?

Question ID : 65497818308
Chosen Option : ==

Q.11 FEfifEd & | $19 91 d¢ T8 1182
Ans X 1.79dq

X 2 gmdg
3. FTT
X 4. 3ydag

Question ID : 65497818326
Chosen Option : 3
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Q.12 gyfraw TR forw Irsa # wTaT S 32
Ans X 1. 39

« 2. feiRe
X 3.7 TS
X 4. \fQR

Question ID : 65497818304
Chosen Option : --

Q.13 fgfafea # @ fea faarst < 2020 A vsrsh ¥ gwf=a fear e
Ans X1.?ﬂﬁ¥lmf

X 2. T e

X 3. \fF®§En

o 4. T T

Question ID : 65497818307
Chosen Option : --
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Q.14 3T TUT F} Ugeht Sob Fa g2
Ans X 1.TaTS 1948
X 2. SR 1950

X 3. 3T 1945
o 4. faTsR 1946

Question ID : 65497818316
Chosen Option : 4

Q.15 fEvor 3o A Fufafea & @ w19 o g fordt
Ans X 1.T3eeR 3P AAEH

o 2. T SToRCH 3P de

X 3.5 7S Sfftp wira

X 4.9 Yo

Question ID : 65497818309
Chosen Option : ==

Q.16 HRd PR gRT [ApanTar fifraw fea af wifva foear mare
Ans o 1.1995

%2.1997
X 3.1993
X 4.1992

Question ID : 65497818317
Chosen Option : --
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Q.17 1917 ¥ wgTe Mieht A ToRTa & Wel o & frami & fow wame 3 IReema #t fh ag
TAARTE &1 7 & forg T

Ans o 1. ToRE TRl H g
X 2. S8R TUrEd aTet Sl
X 3. e gfawnst & gur
X 4. @RI $%

Question ID : 65497818328
Chosen Option : --

Q.18 The colour of the clear sky is blue due to the phenomenon of:
Ans X 1. refraction of light

X 2. reflection of light
< 3. dispersion of light
o 4. scattering of light

Question ID : 65497818318
Chosen Option : 4

Q.19 fgfafEd & @ i dt vgifsyi fureg § @ 78 82
Ans X 1. rifean

X 2. @it
o 3. ast
X 4RI

Question ID : 65497818324
Chosen Option : 3

Q.20 1978 ® URA & weTH= frufafea #3 &9 32
Ans X 1. TAWIRI &1 Al

o 2. AR 3uE

X 3. RuRE

X 4. 9T SRIgR el

Question ID : 65497818311
Chosen Option : ==

Q.21 1862 ¥, I= UIATAT B RITYT UgS el B 18 N2
Ans X1.ﬁ('_vﬁ

X2 g

3. 75

X 4. @famR

Question ID : 65497818315
Chosen Option : 3
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YT B2

Ans X 1. 199 R UiA
o 2. W0 SR &2
X 3. 3RA R Ut
X 4. T 3R =T

Question ID : 65497818319
Chosen Option : 2

Q.23 wgTeT el P yrtor SR MRE iffrm, 2005 BT Iz AT & F SrehfawT
W YABT FA F RE R WS 39 &1 AR wem He 81

Ans X 1.250

o 2. 100
X 3.45
X 4.365

Question ID : 65497816292
Chosen Option : --

Q.24 fmfafaa & | frwe Fator Mewe Ft $ga e TR ST ™1 412
Ans X 1. qdq axarST

o 2. TRHAR

X 3. o ofise

X 4.7d TG

Question ID : 65497818306
Chosen Option : --

Q.25 fty gdftens (BHIM UPI) & HeH &, BHIM & ' f5H g &1 Tas 82
Ans X 1. 3Ms3fed (Identity)

o 2. S (Interface)

X 3. 3R (Insurance)

X 4. 3R (Interfere)

Question ID : 65497818414
Chosen Option : 2
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